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Answer all the following question,

Q.1. Choose the correct anSWer: (15 marks)

| . The chromosome that has only one arm is called

a. iclocentric chromosome b. acrecentric chromosom,

' ¢. submetacentric chromosome d. metacentric chromosome

a. DNA helicase b. RNA prime
¢. RNA polymerase d. DNA pelymerase

3. The antiparaliel nature of double-stranded DNA means that

& the two strands run from 5' (o 3' in oppesite direction.
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€. the twg
® Wo DNA strand twist around each other in a helical patter.
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b. secondary structure

d. quaternary structure
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2. Which of the following causes the unwinding of the DNA double heliy?
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The 5" ends of the two strands are on the opposite ends of the DNA
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. Bacterin do nol have
W, Fifsime b, n plasma membrane

. true nucleus . a genome,

= Which of these does not require energy”
a. simple diffusion h. osmosis

e. facilitated difusion . all of the above

% Decreasing of the cholesterol level in humsn blood is carried oul by

a. pinocytosis b, phagocylonis
. exocy loxis d. receptor mediated endocytosis

9, Chromosomes replicate in
a. prophase b, Gy phase ¢. {a; phase d. § phase

10, = anchor the nucleus and some organelles to their places in the cell.
a. Intermediate Mlaments h. Microtubules
¢. Microfilaments d. Centrioles

11, ‘The process by which the bacteria enter the cell is called

a. pinocytosis b. phagocy tosis
p
d. none of the above

¢. oxocylosis

12, «—- move the chromosomes in ccll division.
a. Microtubules b. Intermediate filaments
¢. Microfilaments d. Centrioles

13, Insulin is
i, transport protein b. structural profein ¢, contractile protcin

d. regulatory protein ¢ none of the above

14, —- is non branched polymer of -plucosc.
a. Chitin b. Cellulose c. Amylose

d. Amylopectin c. Glycogen

15, —--ees is base substitution that result in change in amino acid,
. Silent mutation b. Nonsense mulation
¢, Missense mutation d. Frame-shift mutation




Q.11 Truc or False? And correct the false. (10 marks)

) Germ line cells and somatic cells are diploid (2n),
l. l s

er, and
2(  )Syaapsis crossing OVET reduction of number of chromosom s Peus
during prophase |-

() Translocation results when a segment of DNA breaks off, moves from

onc chromesome, and is inserted into its homologous chromosome.
4.0 )In Na/K pump, three Na' pumping in the cell and two K’ oul.

S.( ) Agencral characteristic of cells is their microscopic size because as a

cell grow, its surface area increases much faster than its volume does,

b.( ) (;'Iytuprnleins and glycolipids act as surface markers that identify echl
type.
! 7. ) Microfilaments are aboyt 7 pm in diameter, while microtubules are
.*I about 25 um in diametep,
8.( ) Dynciny mave organelles away from the nucleation center,
9.
C MAtspor desmosome, Th plasma membranes of two adjacent cells are
; “eparated by distance of 30 to 50 nm. And this desmosome joins actin
! fil
| | ATERts in ong cepy to a similar filaments in ncighboring cell.
I 0.{ )in oy -
[ T iransport, Nu® enters the cell against its concentration

Bradieng yp: B _
| Sile Ca leaves the cell down its concentration gradicent.




Q.1V. Define (4 marks)

i

2. Verpenes: ="
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1. Plasmid:

4. Centrosome:

Q.V. What are the differences between the following:
(8 marks)

1. Simple diffusion and facilitated diffusion




Q.11 Complete the following: (9 marks)

1. Lactose consists Of semmmemmmeeeeoe A e ____ jhat joined by covalent

hnid ealled

2, The intermediate filaments that ocour in all types of muscle fibers composed of

prutcin called

attach epithelial cells to the basement memhbrane.

A"
Ll -

4. Meiosis is reduction division because

5. omemmameereee=m= it @ specific nucleotide sequence of DNA where RNA

polymerasc hinds and initiates transcription,

6, The first step in protein synthesis is the activation of amineo acids by carymes

called

SR

7. The type of animal ribosomes is 805 ribosomes. The 5 referre

and it is defined as

i I
K. The AT consists of .
andd

9, Pores in the cell wall of plant are called

10. DNA replication is semi-conservative, and this means

——

11. During S phase, the centromere is bound 10 3 disk of protein callcd

This disk functions px .

12. is the microscope that uses ulraviolet to

iluminate specimens.



1 .-KH'W“I' .-¢|||_'|.|_1|htlii.lll ained seviial reproducton

lllll-l."lll:ll mulations and induced mutnlions

4. dpa

5, PDNA replication and DINA trans¢riplion

6. Heterophaposomes and autephagosomes
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~ @.ViL With drawing illustrate the foljowing: (4 marks)

1. The structurs of nudleotink

2. Lysine_

3. Cellubosc

4. Chloroplast
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(Q.V1. What arc the functions of the following (7 Marks)

1. smooth umlut"‘“"“m "m"“:lm.

1. Cholesterol in plasma membrane of animal cells,

X Peroxisomes

4. Microfilamengy

S Central vacygle




{e short note shout: {5 marks)
Spermatogenesis

h. Posttransiational events

¢. g phase

Ve



ion containing high salt concentration

2, Keeping the food in 3 solu

| 1. Red blood cell has biconcave shape.

Q.IX. Answer the following;

I Expluin the three chegy

(3 marks) Points that control the cell cycle in cukaryotes.







